Gkord 2019 o T ~ Moo .

1

0. ég";& - )"

£ o
(+StaT 4.t = V}__L___(_fg_‘)L
1) wepe ALl Zt=¢ﬁ$);;;
= Ak = Bk .
}e‘)vwh [+ &+274 -+ L »-!:"(f+:)3‘)_

}E{)n':bfis 14+ §~ . wf-L}-f-(&‘H) e
ek~ ()T )t 2
! g
- b)) L-Hﬁ(brt)s >
[
= (H\))(tlwhﬂg >
o

= Ouw)l(k,-r— .a,) ol
e

=KL
)

Aﬁé{, 4&;{&&‘7 f,g//o/ wr =t | &

| 74 MW&/‘; A wr H=l

(r*Cer) ™,

ZJS”]

Jx|*- 3lxl —28 =0

(’M=‘?XU‘J+«+) = o |

Lol Il = =49

y— A elelly bl wr Vo A )
2.)
; 2Lt

fal= =
x=*7 ki ”&Hi(g)
>,
;.w_i AR S B PR
gt pAur =T 2
/5 T e
/é{z‘\,)(— = l 1 5‘-
: . = & (&
D D%f (k)

jx-3i
: = 2

'1‘3‘ = e

a3 = A lucé x=3 = A3 |
b A 3*‘€«LLZ,

253,

o B3 W
(1% > (:.,3;) Dg(‘.\)
|
> 5), b= 0}37/%, hoowe + O |
= S, 4k wmé™ P CS)
22 2 3 = ©37 L P +0o5s .|
o 3'71/%'3“" i) o [
_ 150
Aub = =5 3
iSO
e . |



/

SJ, 02)1,3— 15124—32: -13 = = 3—(-,2,:,' .ox= 8—24,‘
z /
[x—gx,fla)(zx_—q) - ©
x = 3L, e Lz"pL_ & I 7 (Y)
i
32 A\'l‘l*%_l =P tagL -
pi ig /"‘r ) ™ . 7 .
" iGi)e p4gil e 203" g
' / < ! )
2L 4 - p + g | RN, il W Hpit
= | 4 _ rj L , -(7) E/g]
o CL { p:_ bl P = i Q= q{
14 | L ¥
4 | FO) = ax+b

7C e ,C___ Q_qucl-p—b )%j_‘fiﬁk-f 2@

‘a‘LLLa-b&a: A% + 26 |

ar=49 |} abth= 20 |

i

£3] —abth= a0} T 3bib=atrb

7 ok

b =-rof ' W b=5 (c,)

| =
y2 0= XCKWH e
L))cz+z o £r e 2
L@w(&ﬂ) xr =2
t b2l | ! | 4i.3. + @ obokativn.
N | e K= 2
’/'w : -f@ﬁo{;ﬂﬁbb‘:

S —. )

i~ kS %
i
i {' | % # /&w Q,r = | j
4L, _F(’L)'” )L L T X ho
(a»latxez. o ar = ©]
R Vo .
Cp s pdepbx=o A ©) 1

Fp % ' ' E}%"A*



v 2 4 erly
s f- ;j’.!g - -{.l% SmMe = 3o0%

32;:‘7‘6 - ili“sfme} = 3¢9 ( b\
. 62 B -~ /é,sz'ne =308 = © - _._' H =ty - 162 S >
55 /
S 2 @f = 2 é‘

\ 3K
G = & — 6a(>)-le25n(>) -850 -

1ex— /b2 (es ()

= 2 $KLl90 T .4 = l)y‘?LBS"Uqu P2
&z = 597 ©3 = }fs—mbsfoqu

O = 2 735710675 Gy = 2450937247

Os =2 4m83716!
O =2, 49993776 1

‘ 8
SR RRUL T L]
—
bl g BaTramgd y = g |
b + 24 + 2x + oayey
br + 2 4+ 0 +0 =o©
2_1:J = -L¥ /
) J:—\B)(_ / (C;>
-

bl2. 3a* 4a(-3) + (-3x)= ¢ |




I il
X y—— e
= k2 =t I
2 .
- — ({:
Bt )
._ >
5 A B [
b2l x(x-z) = X ¥~ %
A = 2 6 = ”5_2:‘ =
— B ,_Z
= — 2‘
2 -l , .
)_Ckf?—) T e i x — 2 l (L)
=
T o P A A
b3 j zzf[%%%m% 7: e ()c—:»,).z‘
! ' ] /7
! £ —-/J’ {r 4 e dw &
P TSV e

(1o)

B3]

7 fy= (- ()

) Y-k S %

) X-af : killrjk:s ]

1) Vi
Sh -

-
e

/ﬂ’//ﬁy/ﬁ L
L7 L7

=0

1.8

X-g
n* lk3‘§11T7L‘3
-
i
=K
a2
-k
B U3

: —
W) ‘ fo.) = (31*-;0 x-&?)x_’.‘.—. 77_&@.3--&7‘-”»3) o

x4

- >
32 ¥ .
e A - e T A=

by

y DY T VT
k:’-\, ,{LL\;"?L +E) A
oot i fe o )L=;':L=i
@éz )3:~fo§L :-;)lyzol
| o
v) 8&0 LLL+3)[L-L>@_—1) - Q

}LL
(43)0-2)6-)

\

/
S o
X € C’M)'?’)V foirtw-tined) 2

A (-3,0) Vv (1} >)

= O

g

(4).

e

2

e



17

(b

\x




Cll, / - dr
NS
\/21 (S —) !'("o(x, 2
’ -
| 1

Séz

S, / SMER sl b ol
[ I
= Il/f[ms(“”—) - (Osnkl ol

'”LJCCOSK— wguzg) of

“(QW\L - \ sl n x o 7 (_u)
=>
¢ / X (oSk el D i
= tLS‘?‘\r\g 4 D oS~ w ZEwe 4 € 'Y )Ll' oL
- = 1w ) shw e |
+ 2 ] - oS l
_ o | - Siwoe | (fuj




&2 3 - a " - x L \j ==
al‘“ ’X.L f_%z-_ a'z./
_..%)._" S -
‘ g = ‘_"’_ & o /
oyl /
'—/5(&11 — +¢L">a(x = 12l
[T(2er =227 ) dx =72 1
n&i g’y = 2x} 31~ = T& |
7
-(@a.a— ;lﬁ)@&a& +~3cx>» T2
2] 3
qa? - ..g o' =Tk 1
e’ pa’ = alb
QQJ = 2l B
a’ =&Y
....____..__..h‘__;? ) .
(331
9.1, y = (i +tn¢)"’1 7.2, Y- 0= —=(k- 8’) >
oﬂj = L ;-l.-L}LL N :-__S:;L_p_;o { (,.%)
Ly = ) y=-3 |
i —dp =
x=b = 1(&5) =}
z e A
~ < i 7.3 V‘fi_]" (H-LHL>0(’L+ ’P‘\“/ sk t2o G(k_
"o | ) | - 3
(48 — i —_— = o -
] _S:S___b ’_—_.‘T(L+2)L >\a F K &%x 42 L)
5 - = 0 -‘TQ;-F‘I),>+T<(?O+ (qsu.;u))/
e o
GO ' ;
Tt BTy
Q& nemad, : : [ 7 [aa]
5 Cﬁzeo,7r> ( t




 3b+h =0

|
i
T
; 1
; |
} |
: -
|
| |
= = —t S
) T o o | \
_a | |
I |
= N | |
I 1
|
— | | =
— S ) |




